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Exercicio 1 (Gabarito) —

a) 2+ 8z — 16

b) 6x* — 1523 + 2122
¢) a®+5a%+2a -8
d)
€)

Exercicio 2 (Gabarito) —
a) z%+ 8z + 16
b) 22 — 144

c) 2%+ 8z + 16

Exercicio 3 (Gabarito) —
a) (z+8)?

b) (y+11)-(y—11)
c) (a—4)?

Exercicio 4 (Gabarito) —
a) A(z,y) =z —y=

b) B(z)=2z+4+6=

¢) C(z) =1- 322 + 5z*

Diego Zurawski

d) 36z2 — 163>
€) 2522 + 70z + 49

f) 164 — 40ab + 25b>

d) (3z+7a)- (3z —7a)
e) (2m —3n)?

f) (z+5y)?

4) Dw,y) =~y
e) E(z,y) =245

f) F(z,y) = 2zy — 627y>

DESAFIO (FURG 2002) (Gabarito) — Letra B (Resposta ¢ al)



